1)

N

4)

5)

6.)

7.3

8)

9.

10.)46.33 ml of 0.227M HCIO; is added to 48.73 ml of 0.108 A7 KOI1.

Honors Chemistry Practice Test: Acids and Bases

Write the correct answer in the space at left.

a.) oyt ~ Term for H;O" ion.
b) Lo x(o 'Y Ion product constant of water, K, at 25°C.
c.) Il u 1. O i~ "M Concentration of [H'] and [Ol1-] in pure water

d.) dggr%<> As the pOH increases the [OH™] (increases / decreases)
€.) 6T = yoc ocoe How many times more acidic is a pH 2.0 than pH 7.07

f.) 51m B Type of acid that is less than 100% dissociated into ions.

g.) [ The Arrhenius definition of an acid is a substance that produces ions in water.
h.) o + ‘What is an acid by Bronsted Lowry Definition? A Base?
L) _ decreases When vinegar is added to a beaker of water the pH (increases / decreases).

i) Pk < 1 ~iess  What color is phenolphthalein in a solution that has a pH of 11.5, and 2.5?

ldentify each substance as (A)cid or (B)ase
Identify the Acid, Base, Conjugate Acid (CA) and Conjugate Base (CB) for each equation.

a.) ocr =t NH," ————» HOCI + NI,
6A2£ Ac D LA - <L,

Name or provide the formula for the following acids.

H,S hoadrusc Hune eacin
Hig A O Arsenous Acid
HC,H;0, Beod e
i1y POy Phosphoric Acid
Complete each table. Maintain sig figs. Sig Figs Count as 2 points!
B G.24 PH 2.225
[H+] [H+] . &
5.7x107° g £5.9¢ =10 A
POH i > pOH -
S, FE /e FFS
[OH-] -s [OH-] - —
. 107> M /. 6] ~ I M

Calculate the [H™]. pH,
solution. Show work.

pH=__ G . Fe, 1=

Write a balanced equation for the acid-base reaction of citric acid and sodium hydroxide.

et

( 10 pts.)

(12 pts.)
(4 pts.)

(4pts.)

(8 pts.)

[OH], and pOH of a solution in which 3.0 ml of 0.15M NaOH is dissolved into 5.00 liters of
(4 pts.)

poti=_ A O  [onl=_ Qe x 16 SAM

A c,hqu:,t stalks a buret to the 3.58 ml mark with 0.230 Af NaOH solution. This solution was used to titrate 10.00 ml
fphes&eﬂ

c acid. At the end point of the tltratlon the buret ré:zadmg was 36.50 ml.What is thc molarit

of the citric

acid solution? Q.OOFS5F nal OH ™ « COZLS [ O.252 M~ (5 pts.)
Write a balanced reaction for an acid-base ncutrdiaz(lhun reaction 1}15 (voui‘d produt!Fthe salt L alciu:n Nitrate.
2Z HANO=3 5 Ca(OH\ —_—— Ca. (NO), + (4 pts.)
24.02 ml of standardized 0.0948A7 NaOH is added to 0.3351 grams of an unknown tr 1prot1c ac1d met is the molar
mass of the unknown acid? A _iHs H3 _4 O.33514 (4 pts.)
6.024021_> O.0Fg M = TOOC2ZF R OHT 59 ato ot PA S i

ls thc resulting mixture acidic or basic? What is the

(5 pts.)

concentration of either excess H or OH AND the pH of the final mixture?
H o, + KoH —= Kero, + H,O
. 0I0SHd 0.0052¢
prf ek [.82 <16 "M on-

— O . 005244
O.00S2 42l XS HY _
(O.04%33 i + O.04%73L)

S.SIelo”" M KT PH

I.259



